load capacity of soil

Foundation strip

type of soil general sand / S3
no ground water

character of soil

pilimanary load breaing capacity
275 kPa

cef olconession
def 31|angle of friction cd=ce/Yc

cd 0 Yc

dd 31 Yo

Y 18 YY

Yd 18

load on the foundation pad

|ng | 1036|Vdn Vgk*Ygn+Vgk*Ygn negative effect

piliminary desgin of foundation pad

A 1.37 m2 A=Vdn/Rdt
side of foundation pad 117 m

coeffitient calculation

load bearing coefitient

Nc 126.74|bd>0
Nd 77.11
Nb 68.55
foundation pad dimentio shape of foundation pad coeffitient
b 1 sc 1.2
| 1 sd 1.05
h 0.86 sb 0.7
d 0
depth of foundation coeftient
dc 1.00
dd 1.00
db 1
coefficient of slope of force
ic 1
id 1
ib 1
R/A 431.89 kPa load bearing capacity of soil

stress below foundation pad
od 377 kPa

od<R/A 377 < 432 ok

for ¢d=0 Nc = 5,14 else Nc = (Nd-1)*cotg(cdd)
Nd=tg"2(45+¢d/2)*erpi*tgdd)
Nb=1,5*%(Nd-1)*tg(cdd)

S = 1+0,2*b/I
Sy = 1+0,1*b/I*singd
Sy, = 1-0,3*b/I

d = depth of foundation

d, = 1+0,1*V(d/b)
dy = 1+0,1%V(d/b*sin(2d))
dy=1

ic = ig = ip = (1-tgd)? = (1-H/IV)?



